LINE TUBE DALMEC CODE
e e ——— BLUE POLYURETHAN TUHE PU_ 4X1 20.25.0050
-------------- BLACK POLYURETHAN TUBE PU 4X1 20.25,0048
BLUE POLYURETHAN TUBE PU 6X1 20,25,0052
-------------- BLACK POLYURETHAN TUBE PU 6X1 20.25.0051
BLUE POLYURETHAN TUBE PU BX1 20.25,0054 A |PRIRICA |EATA PEXRISINE Do hich bl
A sy g BLACK POLYURETHAN TUBE PU 8X1 20.25.0053 X
BLUE POLYURETHAN TUBE PU 12%1.5 20.25,0055
ALACK POLYURETHAN TUBE PU 12%1.5| 20.25.0062 D
SILUERPRESSTUBE Di 13 20.25,0035% DESCRIZ1ONE ! CLIENTE;
SILUERPRESSTUBE Di 8 20.25.0014 D PNEUMATICO PARTNER SPECIALE COLON MEAD WESTV,
gitﬂs:ggz:gmgg gl f ggggggig 2mm: HATALCOLA: CoriEssA: |n.naun£:
E 1 . ’ E’W
RUBBER TUHE 10%19 20.25.0003 wle 0325691 mOS 20995‘3“ P ,w6.04n°057'03
NQ SKIUE TUBE 491 DN12 1/2 20.25,0072 1 : I y I ’ ' | ¢
NO SKIVE TURE 431 DN10 3/8 20.25,0073 Y da lmec - @ - G‘, s 100200000




0

A o
® W
== |

(oooxlmm.hmm_\l

-

t

_5287

Description

5/2 way M5 insertion valve

Silencer 3/8" M model AN

3/2 way 1/8" amplifier valve

Salely valve b

Balancing cylinder ass. D178 conn. 45
Silencer 3/8" M model AN

Pressure gauge D40 1/4"G 0>1 MPa / 0>145 psi
Selector OR 1/4"

Pneumatic relay 1/2" G

Regulator with relieving 1/4"G 0\>0.4 MPa
Filter regulator 1/2"

Pressure gauge D50 1/4"G 0\>1 MPa / 0\>145 psi
Non return valve 3/8" gas

5/2 way M5 insertion vaive

Quick exhaust valve 1/8" F

Quick exhaust valve 1/8" F

1-way 3/8" swivel G- M-16x1.5

Brake group with locating plate

Brake group with locating plate

4-way swivel D50 "S"

Pre-selector Dalmec disc D100

Pressure gauge D40 1/8"G 0>1 MPa / 0>145 psi
3/2 way roll valve

Red pushbutton D=22

3/2 way panel mounted valve D=4

3/2 way panel mounted valve D=4

Red pushbutton D=22

Red pushbutton D=22

3/2 way panel mounted valve D=4

3/2 way panel mouriled valve D=4

Red pushbutton D=22

Selector AND D=4

Red mushroom pushbutton with coupling D=40
5/2 way D=4 panel mounted valve r/c+ n/o
Timer VZ-3-PK-3

Black pushbutton D=22

3/2 way panel mounted valve D=4
Selector AND D=4

3/2 way panel mounted valve D=4

Black pushbutton D=22

Black pushbutton D=22

3/2 way panel mounted valve D=4
Selector AND D=4

3/2 way panel mounted valve D=4

Black pushbutton D=22

Timer VZ-3-PK-3

Selector AND D=4

Selector OR D=4

Selector AND D=4

5/2 way M5 insertion valve

5/2 way M5 impulse valve

Selector OR D=4

5/2 way 1/8" impulse valve

CILH 15 D 111 DOPPIO EFFETTO
Piloted non return valve 1/8" INN D=6
CILH 15 D 111 DOPPIO EFFETTO
Piloted non return valve 1/8" INN D=6
Quick exhaust valve one fouch fitting D=4
Quick exhaust valve 1/8" F

Cylinder D40 H10 type CSR-40-10
Pressure limiter 1/4"

3/2 way 1/8" insertion valve

Quick exhaust valve 1/8" F

Cylinder D63 H10 type CSR-63-10
Impulse counter 8 figures

Silencer 3/8" M model AN

Dalmec code Producer Producer code
20.22.0077 SMC SYJA5120-M5
20.17.0003 SMC AN300-03
20.22.0056 IMI NORGREN 5BV-913
00.79.0027 DALMEC

00.08.0133 DALMEC

20.17.0003 SMC AN300-03
00.79.0095 DALMEC

20.28.0082 IMI NORGREN T65C2800
00.79.0123 DALMEC

00.79.0162 DALMEC

00.79.0146 DALMEC

00.79.0148 DALMEC

00.79.0086 DALMEC

20.22.0077 SMC SYJA5120-M5
20.28.0034 SMC EAQ1510-F01
20.28.0034 SMC EAQ1510-F01
00.52.0063 DALMEC

00.95.0026 DALMEC

00.95.0026 DALMEC

00.52.0067 DALMEC

00.79.0151 DALMEC

00.79.0084 DALMEC

20.21.0018 PARKER PXC-M521
20.20.0062 PARKER ZB2-BA4
20.22.0109 PARKER PXB-B1011
20.22.0109 PARKER PXB-B1011
20.20.0062 PARKER ZB2-BA4
20.20.0062 PARKER ZB2-BA4
20.22.0109 PARKER PXB-B1011
20.22.0100 PARKER PXB-B1011
20.20.0062 PARKER ZB2-BA4
20.28.0043 PARKER PLL-A11
20.20.0064 PARKER ZB2-BT4
20.22.0132 PARKER DIS. 1411
20.28.0052 FESTO 5755
20.20.0057 PARKER ZB2-BA2
20.22.0109 PARKER PXB-B1011
20.28.0043 PARKER PLL-A11
20.22.0109 PARKER PXB-B1011
20.20.0057 PARKER ZB2-BA2
20.20.0057 PARKER ZB2-BA2
20.22.0109 PARKER PXB-B1011
20.28.0043 PARKER PLL-A11
20.22.0109 PARKER PXB-B1011
20.20.0057 PARKER ZB2-BA2
20.28.0052 FESTO 5755
20.28.0043 PARKER PLL A11
20.28.0044 PARKER PLK-A11
20.28.0043 PARKER PLL-A11
20.22.0077 SMC SYJA5120-M5
20.22.0078 SMC SYJAB220-M5
20.28.0044 PARKER PLK-A11
20.22.0012 SMC SYJA7220-01F
C1.00.28.2076 DALMEC Pos. C1.
20.22.0116 SMC ASP330F-01-06S
C1.00.28.2076 DALMEC Pos. C1.
20.22.0116 SMC ASP330F-01-06S
20.28.0032 SMC AQ240F-04-00
20.28.0034 SMC EAQ1510-F01
00.08.0250 DALMEC

20.27.0019 SMC EAP100-F02
20.22.0076 SMC SYJA712-01F
20.28.0034 SMC EAQ1510-F01
00.08.0161 DALMEC

00.79.0111 DALMEC

20.17.0003 SMC AN300-03



	Image 1
	Image 2

